N.B: 1.Question No. 1 is compulsory. > %y
2. Attempt any Three questions out of remainlng.guestjpns

Answer any four K t
a) Compare Slotted ALOHA and Pure ALOHA. Tl AR AT el ) -
b) Explain IP Address and Subnet Mask ST L LA SO 8
¢} Compare Circuit switched and Packet swutched netwarks Lot st e R .
d) Explain Selective Repeat Protocol. P o T O B S NS
e) Piggybacking. \f_'.“_ ik T BN
‘ 2 a) Whatis OSI model? Give the function.ﬂndaservlee s of eaf.{a Iaver > -\ S T 10
- b) What are three main function of Ngtwqus Iayer? What is Rouﬁn;? Bxplau‘r shq:test patﬁ Rautmg 10
= CEE PR ;
3 a) Draw and explain TCP segment hgader S ¥ 7, T R 10
\ b) Explain CSMA/CD protocol. . o ol 10
a) Compare 802.3, 802.4 and 302;‘5 IEEE stani;la g o S 10
bY, Explain HDLC protocoJ,aLnng w!thjts d"if?ereo’b fra;ne stwb’gure, 0% 10
~: ’):" < S "\‘ \ N, 3
a) What s congestlon coptrol anﬂ.what a}‘gthe‘ca‘uses ﬁf ﬁcmgestion? Egﬁlain Token Bucket algorithm. 10
b) What are the elements\oﬂ’ rampgrtlayef PTG S L 10
g  Writeshort notes oﬁ (Any qur) A \ o z 20

i) thv;orldopologies = 3
i) Tradhional Ethdrnet« QA4S T S
1), Mbhﬂe-‘retephohqf'.ystgn?f YO SE
R iv)\RlP(Boutmg Jnfom‘ilﬁon@[ptgoolh 3 SES
3 v)” quke]ysoekgt\ i R S
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[Time: Three Hours] \

please check whether you have got theﬁght’ queqf on
N.B: 1. Question.No.lis compulsory. o :
2. Attempt any THREE out of the remainl
3. Assume suitable data if necessary:

Solve any Four sub questions
a) Draw and explain Memory hierarchy. .. .

b) Represent (12.25)iw0in double precmipfs
¢) Draw and explain basic mstructloh exeeutfog gtle; el

d) What are the types of pipelinehazards? § )
What are the major functions ofanjlo modul 7 s

@2 a) Explain the functioning of \M“lke‘s.g
b) Draw the flowchart )

Q.3 a) Differentiate betweep»{llscand CISC, ndetax-@lthe:ga led 2

b) Draw flowchart of bmam»Rqstormg dlvrsfon gnd use it 1‘.‘_ ; d@ide “16‘/ :

0 w.

Q4 a) Calculate the. numbe of pagehitgand fauLts Qiﬁg ElF LR ar
| 2 3.3 52,4,

algorithms. for | the;qulowi "agé frargé seqimﬁge
(FRAME SIZE=3). - A
b) What is: %hsfru : t&n )

3 Mic
by ?rogram@ed“rlo' :
)\."»It_\térlea\‘red and 'ﬁssbuat
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; |
Q.P.Code:09966
uradon: 3 hours Total marks: 80

wote () vuesnon No. L LS computsory
(2 Atiempt any three questions Irom remaining questions
{3 Lrraw suitable diagrams wherever necessary

i+) Assumie sultable data, it necessary

L. (4 Wete regular expression to denote @ language L which accepts all the strings (05) ¥

which begin or end with either 00 or 11.

(by Convert the given CFG to CNF i

(05)
S uSa|bSblalb J
) Lifference berween FA and PDA (05) I
(d) Design moore machine to convert each occurrence of 111 to 101 (05) i
k. 2 Z.wa) Coastruct NFA with epsilon which accept a language consisting the string of any (10) -
dumber ora’s followed by any number of b’s followed by any number of ¢’s. _ ;
Also convert it into NFA without epsilon. ﬁ
(b) Design a DFA corresponding to regular expression (a+b)* aba (a+b)* . (10) ‘
|
3 (a) Use pumping lemma prove that whether following language is regular or not (10) t
(a"b"c™|n>=1) L
(b) Explain Chomsky’s Hierarchy (10) -
124 (a) Derine context free grammar. Obtain the CFG for the following regular
expression: (10) ',' :
(110 + 11)* (10)* ' & !
Turn Over

7879AB934SBCA 74B209B152B50C617CB
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T1624/ T1079 AUTOMATA THEORY

(b) Convert given CFG to CNF
S—>ASB | &
B -»SbS |A|bb
A-7aAS |a
Q 5 (a) Design a PDA to accept the language {L=a™b" ¢ " |m, n>=1}
(b) Construct TM for L= {a"b"c " |n>=1}
(Q 6 Write short notes on  (Any two)
(a) Post Correspondence Problem
(b) Recursive and Recursively enumerable languages

(¢) Halting Problem

7879ABY848BCAT4B209B152B50C617CB

Q.P.Code:09966
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(10)
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Q.P. Code :09812

[Time: Three Hours] [ Marks:80]

Please check whether you have got the right question paper.
N.B: 1. Question No. 1 is compulsory.
2. Solve any three questions out of remaining questions.
3. Assume suitable data if required.

What is a Web Server and why are they needed. 05
Explain three tier architecture of web application. 05
Explain PHP string functions. 05
What is the purpose of XML? 05
Differentiate between the following: 12

i.  Session and cookies

ii.  Client-Side and Server-Side Programming
iii.  JSPand Servlet
v.  Static and Dynamic pages

Describe the situations of using External Style Sheets, Embedded (Internal) Style Sheets and Inline Styles. 08
Use both €SS and HTML code to explain how to use each type of the styles.

What is JQUERY? lllustrate the use of JQUERY for form validation. 10
Write a Java script to open a new window when clicking on a button. 10
Discuss the life cycle of Servlet. 10
Explain with example code how cookies are handled in JSP. 10
What is ADO.Net? How to connect to a database using ADO.NET. 10
Explain XML, XSL and XSLT with example. 10
Write short note on (any four) 20

i.  Website design issues
ii.  Building web application using PHP
iii. Different types of controls used in creation of ASP.NET pages
iv. IDBC
v.  Session tracking
vi.  Objects in JavaScript

F97BF8CF494AE2E18F297DC342840958
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Duration: 3 Hours

Instructions: S N
(1) Question no 1 is Compulsory i L b
(2) Write any Three from Remaining 8
(3) Assume suitable data if necessary

Question
No.

Q1l(a) Explain Prefix code and Kraft Inequahtx ,-\‘

Q1I(b)  Write difference between GIF and JPE’Q‘:‘
Ql(c) Define following terms

1.Code Efficiency 2. Hammmg‘Disfag _,3 Mw i ]

4.Hamming Weight oh
Q1(d) Three Security Goals in Cryptograp Expiaiq T 04
Q1 | SO @
State and explain F. ermat,s thth Iheb
Q2(a)  State Chinese Remamder %edrem usmg
10
Q2(b) Describe DES Ao s R S 05
Q2(c) Whatis Infonnat.gon ra’te Anﬂwn ropemes ,bf Informat!on 05
Q3(a)  For(7, 4)1 lmear bltmk codﬂ
10

A0 SE &3 mﬁbe; bfen’grthat cax\bg: ¢ tected and corrected
Q3 (b) mﬁ‘erentlam between blochmpherahg}sgeam cipher 05
Q3 (c): . With block.c .diagram explain IPBG{{

05
Q4@ mnvaﬁuﬁmWe for thesqmw\lmmg
3 S p(x)={0:07, 0. 08, 0.04, 0. Zf » 0.07, 0.25}.Find coding efficiency and 10
e “redundamcy. o
- (by - With example,explain Convsﬂutlon code 05
Q4(c)  Explain Diffie- Hellman Algorithm .Which attack it is vulnerable to? 05
QS (@) Encode the strmg__gsmg LZW Techm?ue abracadaba 10
- QS (®) ~ Compare. Sylnmgfrw andvAsymmemc key cryptography. 05
Q5. Use the Euchdean,& algonthm to find Bed (1819,3587), 05
Wmte short nb;cs 4
. Q6 (l) RSA algonthm | 05
Q) - Cyclic and Prefix codes ! 05
- 8(c)  Lossyand Lossless Compression | 05
Shagnﬁn s Limit ‘ 05

|
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